7.277

o2 EM LY R L d 1L BTy 2T ) Bk) LRYE e F MATy/ BBk 3

(ZLiz~42)

T T
(9:19) Te = 2 T Yeak) Ctaphe) (1o )
&Y

o __ N - old T
2 *x,??;,ﬁm(n-u YOty )T

Z:wﬁ-;,-'bm% #5&)[151'//2")(1»'—#)7—

~-~ \
—

’% 7?:.1) Lotn = Z 70(2,&)1"14 ( 7{2.::) 7(;,&))1mlm

3
27&5"‘"(/41: = {ZW k)Zn} ()"

{fY(z.k) Xn (7”(34) - Yo(uz'.u)lh } (/‘:“)T
= {NEUE (Y oy — Vit )1 } (=)

New M_-lv

N New T
Z Y(qu)/'{/; /Mk { % Yiz.6) Xn }
= M {if(gul:-r + (Vb - Vo) 1o

}
= W (Tl - Vi)t )

New 14
,ﬁ, (Zwk)/"zm( k ) {ZN V(ZZE\ + (;::1 — 7(;.@ )} M:”(Mgm v

New  New

= Ng /“ls (/41: )

reat"
N T New o
%= 7\7&%"“"[ 2 Veutt+( ¥ -V(Zuk))lml:;r
{Nfu/‘f"' L Y(anl)ln } (H)
— pm e (VB - Tt )
+ N A (i )T]
“183. . - |
2, Vg ﬁ%ﬁag, 1002 R M AE G T Ik
Y&H L"“W‘Y\sz'::e) ezt fﬁ 1 Fvey L




(Te )

ya \NY Y\ T N
l?,d-&} lLk‘ Nk

&Y

e NN

s &
NS R (9.79) T S2G WdaT, Y e 2edne Bate TG o @EIXEB3L T S




